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MeToanuHi BKa3iBKH

MeTroan4Huil BKa3iBKM MICTITh TEKCTI KOHTPOJIBHOI poOOoTH 3
JUIsl CTYACHTIB 2 Kypcy OymiBenbHOro (hakynbTeTy 3a04HOi (hopMmu
HaBYaHHS 1 METOAMYHI PEKOMEH/IaIlii A0 11 BUKOHAHHS.

Mera METOOWYHUX BKa3iBOK — JIONMOMOTTH CTYJCHTaM Y
CaMOCTIHI/A pOOOTI HaJl PO3BUTKOM MPAKTUYHUX HABUYOK YMTAHHS Ta
nepekyialy 3 aHrJidCcbKoi MOBU JIITEpaTypu 31 CHEIiadbHOCTI,
PO3IIUPUTH Ta TMOIIMOUTH HAOYTI HUMHM 3HAHHS 3 JIGKCUKH 1
rpaMaTUKU aHTJHChKOI MOBH.

KonTtposnbHa poboTa 3 € JIOriYHUM MPOAOBKEHHSIM TONEPEIHIX
KOHTPOJBHUX poOIT 1 Ta 2, siki BUKOHYBAJIUCS Ha MEPIIOMY KypCi.

MeTtoanuHi pekoOMeHHallll BU3HAYAIOTh TMOPSJOK BUKOHAHHS
KOHTPOJIbHOI pOoOOTH, a TpaMaTUYHUN KOMEHTAp MOJA€ MOSICHEHHS
10JI0 TUX IPpaMaTUYHUX SBUII Ta KOHCTPYKI[IH aHTIIHCHKOT MOBH, SIKi
BKJIIOYEHO 710 KOHTPOJIBHOI POOOTH 1 3HAHHS SKUX HEOOXIJHE IS 11
YCITIIIIHOTO BUKOHAHHS.

IHopsiok BUKOHAHHS KOHTPOJILHOI po00TH

KoHTposibHa po0OTa BUKOHYETHCS B OKPEMOMY 3OIIWTI, Ha
OOKJIaJIMHIII SIKOro Tpeba BKa3aTH Ha3By HaBUYAJIBHOI'O 3aKjiaiy,
Kadeapu, TUCIUILTIHI, HOMEP KOHTPOJILHOT POOOTH, MPI3BUILE TA 1M S
CTYJIEHTA, a TAKOX MOro mudp Ta CreuiaibHICTb.

KontponbHa poboTa Mae 1m’siTh BapiaHTIB, sIKI BU3HAYAIOTHCS 32
OCTaHHBLOIO HUPPOIO CTYIEHTCHKOTO MHUDpPY:

1, 2 — BapianrT 1;

3, 4 — BapiaHT 2;

5, 6 — BapiaHT 3;

7, 8 — BapiaHT 4;

9, 0 — BapiaHT 5.

[Ipy BUKOHAaHHI KOHTPOJBHOI POOOTHU CHiF JOTPUMYBATHUCH
MOJAHOTO TIOPSIAKY 3aBAaHb. TEKCT Tepekiamy Tpeba mucaTd Ha
CTOPIHIII HATPOTH TEKCTY AHTJIIMCHKOI MOBOIO.

[licns mepeBipkH, SKIIO € MTOMUJIKHU, BUKOHYEThCS poOOTa Haj
MTOMUJIKaMH, BUTIPABJICHHS 3aIIMCYIOThCS y KIHIII 30IIIHTA.

KoHTponbHi poOOTH MOBUHHI MOAABATHCh BYACHO, Y TEPMIH,
BU3HAYCHU HaBYAJIbHUM ILIAaHOM.
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I'pamaTnyni Temu

1 TlacuBumit cran (The Passive Voice) Bumo-uyacoBux (opm
Indefinite, Continuous, Perfect (3akpimieHHs).

2 MopanwHi giecnoBa (Modal Verbs).

3 KoHcTpykii 3 JEMPUKMETHUKOM. Hezanexuun
TlenpUKMETHUKOBH 3BOpoT (Absolute Participle Construction).

4 ®yukii aiecis to be, to have, to do.

5 be3cnonyyHUKOBE MIAPSIKEHHS B 03HAYAIbHUX, JJOIAaTKOBUX
Ta YMOBHUX HIJIPSIHUX PEUCHHSX.

6 I'pyna o3nauens (Attributive Group).

3PA30K BUKOHAHHA BIIPAB

o BupaBu 1

The test results are being processed now.
Present Continuous Tense (Passive Voice)
Pesynbrar BunpoOyBaHHs 3apa3 00po0IseThes.

o BupaBu 2
railway communication network — 3ami3HIYHA MepeKa 3B SI3KYy.

o Bupasu 3
The horse-powered railways did not last long.
3ai3HUII Ha KIHHIN TA31 MPOICHYBAJIN HEJIOBTO.

o BnpaBu 4
One should not forget that our country has been introducing new
railway technologies on a large scale.

He cnig 3abyBaTu, 1m0 Hamia KpaiHa BHOPOBAKYE 3aTi3HUYHI
TEXHOJIOT11 y IHUPOKOMY 00CSI31.

o BnpaBu S
The professor being ill, the lecture was put off.
Yepes Te, 1m0 npodecop 3aXBOpiB, JIEKIis Oyia BiakIaacHa.



1o BipaBu 6
Had you worked hard, you would have passed all examinations.
k1o 0 BU mpalroBajiy HAMoJIETIMBO, BU O CKJIAJI BC1 ICTIUTH.

o Bnpasu 8

Gauge — the distance between the rails.
[IIupuHa KOJii — 1€ BIJICTaHb MIXK PEUKAMH.

Crucauii rpaMaTHYHMA KOMEHTAP

I OCOBJIMBOCTIITEPEKJIAY HI€CIIB Y IIACMBHOMY

CTAHI
Passive Voice (quB. Tabnuiio 1)
Taomums 1
Indefinite Continuous Perfect
Present I am asked I am being asked I have been asked
He is asked He is being asked | He has been asked
You are asked | You are being You have been
asked asked
Past I was asked I was being asked | I had been asked
You were You were being
asked asked
Future I shall be asked I shall have been
He will be asked
asked He will have been
asked

[TacuBHUN CTaH MOXE€ NEPEKIIANATUCA YKPAlHCHbKOI MOBOO

IEKUIbKOMA CII0CO0aMU:
1 Radio was first discovered in 1895 by A.S.Popov.

Panio Oyno Bnepuie BuHaiieHo B 1895 poui O.C. [Tonoum.
2 A device for measuring pressure is called manometer.

[Tpunan nast BUMIpIOBaHHS TUCKY Ha3UBA€ETHCSI MAHOMETPOM.
3 Foreign scientists were shown a new device.

3apyO1’KHUM BUCHUM TTOKa3aIl HOBUHM MIpHUIIaI.
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4 It is expected that the conference will take place next summer.
OuiKyr0Tb, 1110 KOH(EpeHIIis BiA0y1eThCsl HACTYIMHOTO JIiTa.

IT MOJIAJIBHI JI€CJIOBA (Modal Verbs)

Tpu MoganbHiI Ji€ciioBa BBaXKalOThCSI B aHIJIHACBKIA MOBI
OCHOBHUMH, BOHHU CKJIAJaI0Th AP0 IPYNHU MOJAIBHUX JIECTIB: can,
may, must. ]Iy BUpaXKEHHS PI3HUX BIATIHKIB HEOOX1THOCTI
BUKOHAHHS  [ii, JUIi BUPAXKEHHS BOJI, Oa)kaHHs, HaMipy
BUKOPHUCTOBYIOTHCA TaKOXX MOJajbHI JiecioBa: should, ought to,
need, will, would.

HiecnoBa should, ought to maiie He Pi3HATHCS 3a 3HAYCHHSIM.
Koxkne 3 HuX Mae jumie oaHy ¢GopMmy 1 BHUpakae MOpaIbHUMN
000B’ 130K, TOpaay, PEKOMEH/IALIIIO.

He ought to have waited for you.
HNomy cnij Oyno nmoyekaTy Ha Bac.

You should have sent her to Academy.
Bawm cnin Oyno mocnatu i 10 akajaemii.

MopanbsHi aiecnoBa will, would BXWBarOThCS I BUPAKEHHS
BOJI1, OaKaHHS, HAMIPY.

We will help you.
Mu nonomMoxkeMo BaM (3 0XOTOI0).

[ said that we would help you.
A cka3zaB, 110 MU (0X0Y€) JOMOMOXKEMO BaM.

VY nuranbHux pedeHHsx will, would BxvBatoTbCs y IpyTiit 0co0i1
IUTsI BUPKECHHS BBIWIMBOTO MPOXaHHS, 3alpoIIeHHs, mpuiyomy would
HaJla€ MPOXaHHIO OCOOJIMBO BBIWIMBOIO BIATIHKY.

Would you help me?
JlomomMoiTh MEH1, OyIb J1acKa.

Ax MonmanbHe AiecaoBo need BHpakae HEOOXITHICTh BUKOHAHHS
A11 1 BYXUBAETHCS Y MUTAIBHUX 1 3aIIEPEUYHUX PEUCHHSX.

You need not trouble about that at all.
BamMm 30BciM He Tpeba TypOyBaTHCs Mpo II€.
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11 KOHCTPYKLII 3 JIEMIPUKMETHUKOM
(muB. TaGIUIIO 2)

Compound Forms of Present Participle
(Cxnagni hopMu TiENPUKMETHUKA JIHCHOTO Yacy)

Present Participle moxe matu TpocTi (asking) Ta CKJIaaHi
bopmu (being asked, having asked, having been asked).
Past Participle mae nuuie npocty dhopMy (asked).

Tabomunsa 2

PRESENT PARTICIPLE
ACTIVE PASSIVE

Indefinite | /[is , BUpa)keHa TIENPUKMETHUKOM, B110YBAETHCS
OJIHOYACHO 3 JI€I0, II0 BUPAKEHA MPHUCYJIKOM
giving being asked
The professor giving a The student being asked
lecture showed many by the teacher gave an
diagrams. - Buknana4, mo_ | excellent answer. —
YUTaB JIEKIIIIO, CtyneHT, SKOMy BUKIaga4
IIPOJICMOHCTPYBaB 0arato | OCTABMB 3alMTAHHSA, J1aB
nlarpam (giving - OJINCKY4y BIJIIOBIIb
O3HAYCHHS) (being asked — o3naueHHs)
Giving a lecture the Being asked the student
professor showed many didn’t know what to say. —
diagrams. — Uuraroun Konu cTynenTa 3anuranu,
JICKIIIFO, BUKJIaaa4 BIH HE 3HaB, 1[0
MPOJEMOHCTPYBAB OaraTto | BiANOBICTH (being asked -
niarpam (giving - 00CTaBMHA)
o0cTaBMHA)

Perfect Jlis1, BUpa)keHa JIEMPUKMETHUKOM, BiOyBasiacs paHilie,
HIXK Ji51, BUpaX€Ha MPUCYAKOM
Having given Having been asked
Having given a lecture, the | Having been asked a lot
professor answered a lot of | of questions, the lecturer
questions. — llpountaBiu | decided to give an
JIeKII110, BUKJIaAad BIANOBIB | explanation. — I1iciis TOTO
Ha 0arato 3anmuTaHb SK JICKTOPY ITOCTABHUIIN
(= micns TOTO, SIK BUKJIaJay | Oarato 3anuTaHb, BiH
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MPOYMTAB JISKITIIO ...) BHUPIIINB MTOSCHUTH

Jl1eMpUKMETHUKOBI 3BOPOTH B AHTJIINCHKIM MOB1 MOJUISIOTHCS
Ha Bl Tpynu: 3aliexkHl Ta  He3anmexHi. Jlo  3aimexHux
TIEMPUKMETHUKOBUX  3BOPOTIB  HaleXaTh  JIENPUKMETHUKU 13
3QJICKHUMU CJIOBaMH, SIKI BUCTYMAarOTh y (YHKINI O3HaYeHHS abo
00OCTaBUHM.

Having obtained the results of the tests , the engineer ... -
OTpuMaBIIN pe3yJabTAaTH JOCTIKEHB, 1THXKEHED ...

Being used in this way, the device .. - Sxmo npuctpii
BUKOPUCTOBYIOTh TAKUM YMHOM, BiH ...
Having been introduced, the invention ... - Ilicas BIpoOBaJKEHHS

BHHAXOJy, BIH ...

Oco00JIMBOI0 TPAMATUYHOK KOHCTPYKIIIEIO B aHTJIIHCHKINA MOBI €
HE3IC)KHUM  JIeMpUKMETHUKOBHM 3BOpoT (Absolute Participle
Construction), TOOTO KOHCTPYKIIl 3 AIENPUKMETHUKOM, SIKI MICTSATbH
CBIl BJacHUM (HE3aJC)KHUI) MiAMET, BUPAKEHUW IMEHHUKOM Y
3arajibHOMY BIJIMIHKY Y¥ 3aiMEHHUKOM y HOMIHATUBHOMY BIJMIHKY.
[lepeksian HE3aJIEKHOTO TIEMNPUKMETHUKOBOTO 3BOPOTY 3AJICKUTh
BiJ 10r0 MICIISl CTOCOBHO T'OJIOBHOI'O PEUYEHHS. SIKIIO BIH CTOITh MEPE
HUM, TO BIH MEPEKJIAIa€ThCS MIAPSIIHUM OOCTAaBUHHUM PEUCHHSM, SIKE
BBOJUTHCS CHOJTYYHUKAMU: OCKIJIbKH, SIKII0, KOJIH, IiCJS TOr0, K
Ta 1HIITMMH.

The article being ready, I shall bring it to you.
Konu cratts Oyne rotosa, s mpuHecy ii TOOL.

The weather permitting, we shall start tomorrow.
k1110 moroaa A03BOJNTh, MU BIINPABUMOCH 3aBTPA.

SAxio mienpukMeTHUK BupakeHo ¢opmoro Perfect Participle, 1ie
CBIIUUTh, IO i JIENPUKMETHUKOBOIO 3BOPOTY Iepeaye il
J€CTIOBA-TIPUCY JIKA.

With the letter having been finished, I went to the post-office.
[Ticyist Toro sik 1ucTa 0yJio 3aKiHYEHO, s BUPYILIMB HA MOIITY.



SKmo He3aneXHUW TIENPUKMETHUKOBUN 3BOPOT CTOITh IMICHs
TOJIOBHOI'O  PEUYCHHS, BIH  TIEPEKJIAJIA€ThCA  SIK  YacTHHA
CKJIJIHOCYPSATHOTO PEUEHHS 3 CYPSAIHUMU CIOJTYYHUKAMU: PUYOMY,
a, i, mpore.

We use various types of computers, the most powerful being applied
in space technologies.
Mu  BHUKOPUCTOBYEMO Ppi3HI THUIH  KOMIT IOTEPIB, OPUYOMY

HaWMOTY KHIIII 3aCTOCOBYIOTHCS Y KOCMIYHUX TEXHOIOT15IX.

IV CKIIAJHOINIAPAIHE I\’JE‘IEHH}I
(BE3CIIOJIYUHMKOBUU 3B’ A30K) (nuB. Tabauiio 3)

Tabmmis 3
[TimmeTOBE Who can do it is not known.
1JIPsIJTHE
[Ipucynkose The question is if he will come.
iapsiaHe
JlonaTkoBe He said (that) he had done it.
1JIPsIJIHE
O3HavanbpHe Here is the book (which\ that) we have spoken
1JIPsIJTHE about.
OOcTaBUHHE
HJIpsIIHE
Yacy She will do it when she returns.
Micus The plant grows where the others couldnt.
[TpuauHu As it was raining, we stayed at home.
Metn She must hurry lest she (should) be late.
YMoBHE I shall do this work if I have time.
IToctrynku Though he was very young, he was a good

worker.




1 Cnony4yHukoBe CHOBO that y CIOJYYHHKOBUX PEUYCHHSX YACTO
BUNTyCKaeThbCsA. Hanmpuknan:

Everybody knows (that) with modern high-speed computers it is
possible to control a train.

2 O3HavanbHi MIIPAIHI PEYEHHS YaCTO MPUEAHYIOTHCS 10 TOJIOBHOTO,
3a SIKUM BOHH CTOSITh, 0€3 JOIMOMOTH CIIOJIyYHHUKA.

The problem the scientists are speaking about is connected with new
discoveries in the field of electronics.

3 Cnony4yHuk if MOXXE BHUITYCKaTHUCS y TOMY BHIAJKy, SKIIO B
MIJIPSATHOMY PEYEHH1 [JI1 BHUPAXKEHHS YMOBHOCTI BXHBAIOThCS
niecioBa were, should, had, sxi y 11boMy BUTIQJIKy 3aliMalOTh TEpIIe
Mmicie. Hanpuxmnan:

Had the material been tested by the engineers, it could have been
used the construction.

V I'PYIIA O3HAYEHb (ATTRIBUTIVE GROUP)
(muB. TabIMIIO 4)

Y  (yHKIii  O3HAUYCHHA  MOXJIMBE  BHUKOPHUCTaHHS  SIK
MPUKMETHUKIB, TaK 1 IMEHHUKIB. KIIFOUOBUM MO3HAYE€HUM CIIOBOM B
Takl¥ HU3IL IMEHHUKIB € OCTaHHIN IMEHHUK.

Tabnuis 4
ApTHKIB IMeHHuK y poini [To3HaueHuit IMEHHUK
O3HAYCHHS
The land transport
The land transport improvement
The land transport problem
improvement

Life test — BunmpoOyBaHHs Ha CTPOK Mpaili

Labour cost — BuTpaTu Ha poOOUy CUITY

Safety standard — ctanaapT, KUl BCTAHOBJIIOE TIPaBUJIa TEXHIKUA O€3MEKU

College science Improvement Program — nporpamMa BJIOCKOHaJICHHSI
HayKoBoOi poOoTu B kosemxax (CLLIA)
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Emergency snow clearing — TepMIHOBE PO3UMILIEHHS CHITOBUX 3aMETIB
Rail transport movement table — rpadik pyXy 3aJli3HIYHOTO TPAHCTIOPTY
BAPIAHT 1

Exercise 1

Ilepenuwimes peuenHs, HA36iMb ) KOJICHOMY 3 HUX BUOO-4ACOBY
Gdopmy ma cman diecnosa — npucyoxa. Ilepexnadime peuenns pioHOW0
MOBOIO.

1 The arch was prevented from rotating by being rigidly anchored at
the abutments.

2 Aluminium 1s always referred to as having resistance to corrosion.

3 The test results are being processed now.

4 The speeds of our trains have been increased recently.

Exercise 2
lepenuwims crosocnonyuenus ma nepexkiadims ix pioHO MOBOI,
36epmarodu y8acy Ha 8XHCUBAHHS IMEHHUKIB V (DYHKYII O3HAUEHHS.

The London underground extension project, high-speed train service,
out-and-home-in-a-day business travel, steel rail improvement, rail
steel content, 500 mile railway, Kyiv-Kharkiv high-speed line, 10 car
train.

Exercise 3
llepenuwimes peuenns ma nepexiadimo ix piOHOW  MOBOIO,
36epmarodu yeacy Ha pisHi 3HauenHs oieclis to be, to have, to do.

On a straight track the wear is chiefly on the top of the head.

2 Special arrangements are necessary when the vehicles have to be
moved from one track to another.

3 What did sleepers originally consist of?

4 The rails are joined together with fishplates or joint bars.

Exercise 4
llepenuwims  peuenns ma nepeknadimo ix pIOHOKW  MOBOIO,
36epmarouu yeazy Ha MooanvHi Oiecnosa. Iliokpecnimv mooanvhi
diecnosa.
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1 One should remember that sometimes the metro lines have to be
laid as close to the surface as possible.

2 Ineed not have told you about that.

Despite bad weather conditions the company will lay rails at any

cost.

4 Would you please help us?

(OS]

Exercise 5
llepexnadimbv  pioHOWO MOB010  OIENPUKMEMHUKOBL  360pOMU 31
CKIAAOHUMU POpMaAMU OIENPUKMEMHUKA.

1 The conditions permitting, we shall test the new model tomorrow.
Stations and other railway buildings being subjected to intensive
vibration and noise, strong and sound-resistant materials should be
used in their construction.

3 Having invented a new method of steelmaking, Bessemer was
generally recognized.

4 Having been highly appreciated, long welded rails are now widely
used in every country of the world.

Exercise 6
llepenuwimes peuenns ma nepexniadimo ix piOHOW  MOBOIO,
36epmaroyu yeacy Ha Oe3CNOJIYYHUKOBULL 36 S130K.

1 The students of my group said they would work hard and would
speak English fluently.

2 Were the calculations right, the lengths of welded rails could be
carried in the longest standard wagons.

3 The book this student is reading is very interesting.

Exercise 7

Ilpowumaiime mexcm ma nepenuwime tiozo. Ilepexniadime mexcm
PIOHOI0 M0B010, nepexknad 3anuilims. /latme nucomos8y 8i0nogiob Ha
HageOeHi 3aNUmanHsi.

Description of the track
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The two rails of a track produce the most economical path for
the smooth passage of heavily loaded vehicles at great speed. Sleepers
or ties hold the two rails at the exact distance or gauge throughout and
transfer the loads from the rails to the ballast. The ballast provides a
resilient bed, keeps the sleepers in the correct position and at the
correct level, distributes the load from the sleepers to a large area on
the bed or formation of the track and drains off rain water. The rails
are fixed to the sleepers with various types of fittings which depend on
the type of the rail used, and on various other considerations. The rails
which are manufactured in standard lengths are joined together with
fishplates or joint bars through which fishbolts or track bolts are
threaded.

The combination of rails, sleepers, fittings, ballast, etc., 1s known
as the track or permanent way. In some countries, temporary tracks
were laid for conveyance of earth for the building up or the formation
of a railway, and the permanent way was so called to distinguish the
final layout from these temporary tracks.

A railway track is required to bear very heavy loads and to
permit such loads to move in safety at high speed. In order to achieve
this economically, certain standards of loads, of speeds and gauges
have been established.

Note
1 fishbolt — ctukoBuii 60T

Answer the following questions

What are the main components of the track?
What is the function of the sleepers?

What is the function of the ballast?

How are the rails fixed to the sleepers?
What are the rais joined with?

Dhn B~ W N =

Exercise 8
11liobepimv mepminu y npasiti KOJIOHYI 00 BU3HAYEHb ) JIIBIll KOJOHYL.
Ilepexnadims pioHo0 M0B01O.

a) the distance between the rails

1 permanent way
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2 rails b) the combination of rails, ties and ballast
¢) the mechanism which moves the trains
3 gauge from one track to another
4 ties (sleepers) d) long steel bars on which the trains run
5 switch e) wooden supports for rails
BAPIAHT 2
Exercise 1

Ilepenuwims peuenns, HA38iMb Y KOHCHOMY 3 HUX BUOO-4ACOBY
Gopmy ma cman diecrosa — npucyoka. Ilepexnadimo peuenns pionor
MOBOI0.

1 Many materials now commonly used in building were not even
thought of thirty years ago.

2 The question now arises as to how the rails are affected by

temperature changes.

New types of rails will be given much attention by our scientists.

4 Wooden sleepers have been increasingly substituted by concrete
ones.

(V)

Exercise 2
llepenuwims crnosocnonyuenus ma nepekiadims ix pioHO MOBOI0,
36epmarodu y8acy Ha 8XHCUBAHHS IMEHHUKIB Y (DYHKYII O3HAUEHHS.

Super express railway project, battery-operated pocket size ultrasonic
device, railway communication network, single track railway roadbed,
railway track embankment top width, 4 cycle engine

Exercise 3
llepenuwims peuenns ma nepexknadimo iX PIOHOW  MOBOI,
36epmaroyu yeazcy Ha pisHi 3uHadents dieciis to be, to have, to do.

1 Other difficulties with which the workers had to meet were
diseases and sandstorms.

2 There i1s a great difference between the conditions in which the
railway builders had to work in the past and those provided today.

3 Has she agreed to do the work?

14



4 Everybody who has travelled on a railway is more or less familiar
with the main components of the track.

Exercise 4
llepenuwimes peuenns ma nepekiadimo ix piOHOW  MOBOIO,
36epmarodu yeazy Ha MooanvHi odiecnosa. lliokpecinimb mooanvhi
diecnosaa.

1 What means ought to be provided for the safety of the workers in
constructing modern tunnels?

2 Any tunnel should provide a short cut through a rock.

3 He expected that he would be informed of the results obtained.

4 They are sure the company will finish the construction of the
railway section in November.

5 You needn’t arrive at the airport until 10.30.

Exercise 5
llepeknadimsv  pioHOIO MOB0I0  OIENPUKMEMHUKOBL  360pOmu  3i
CKILAOHUMU hopmamu OIENPUKMEMHUKA.

1 The professor being ill, the lecture was put off.

2 Having built a monorail in Tokyo, Japanese construction engineers
partly solved the problem of traffic congestion.

3 Steel rails gradually replaced iron ones, the progress being
accelerated by the invention of the new process of steel making.

4 Having been divided into divisions, the railway handles the traffic
more efficiently.

Exercise 6
llepenuwims  peuenns ma nepeknadimo ix pIOHOKW  MOBOIO,
36epmaioyu yeacy Ha 0e3CNOYYHUKOBUL 36 S130K.

1 The European economy of the 2020s will be very different from
that of Europe we have known for the last decades.

2 Had manganese steel been used on the crossing, the wear would
not have been so great.

3 This is a problem we shall spend much time on.
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Exercise 7

Ilpouumatime mexcm ma nepenuwims tiozco. Ilepexnadime mexcm
PIOHOIO MOB010, nepekiao 3anuwims. /latime nucbmo8y 8i0no6iob Ha
HageoeHi 3aNUmManHsI.

Length of rail

The length of rails varies considerably in various countries. As
the rail joint is the weakest part of a track structure, its strength being
about one half that of the rails, it would appear to be desirable to use
as long a rail as possible. Wear and tear of vehicles would be
decreased and comfort of passengers would be increased if longer rails
were used. The length of a rail is however governed by the length
which can be produced at a reasonable cost by the manufacturers. A
further limiting factor is the transport of rails. Rails have to be of such
lengths that they may be carried in the longest standard wagons. Very
long lengths of rails have been transported but a series of special
wagons are required for such a feat with resultant increased cost.
Again, very long rails cannot be handled by manual labour and special
handling devices, such as cranes, are necessary.

The advantages of fewer joints are so great that the practice of
joining the rails together by welding is on the increase. Welding the
ends of adjacent rails overcomes any of the disadvantages of long
rails, particularly those of manufacturing and handling. The rails are
welded together after laying by one of a number of methods. An
expansion gap is provided at the end of each rail. Theoretically the
longer the rail, the larger is the expansion gap. This, however, is not
the case in practice.

Notes
1 expansion gap — IPOMIKOK MIXK peJibCaMH
2 rail joint — peiikoBH CTHK

Answer the following questions
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What part of the track structure is the weakest?

What would passengers and vehicles gain if longer rails were used?
What is the length of the rail governed by?

How can very long lengths of rails be transported?

What practice overcomes disadvantages of manufacturing and
handling long rails?

Exercise 8
1liobepimb mepminu y npasiti KONOHYI 00 BUSHAUEHDb ) JIiBIU KOJIOHYL
Ilepexnadims pioHo0 M0B010.

1 congestion a) the movement (as of vehicles or
pedestrians) through an area or along a
2 service route
b) the labor performed for another; duty
3 bogie done or required
c) the driving-wheel unit
4 curve d) a part of the track that is hook-shaped
or bent
5 traffic ¢) overfullness of trains and other
vehicles
BAPIAHT 3
Exercise 1

Ilepenuwime peuenHs, HA368IMb ) KOJICHOMY 3 HUX BUOO-4ACOB)Y
Gopmy ma cman dieciosa — npucyoka. llepexniadimo peuenHs pioHO0O
MOBOIO

1

2

In some countries the new tracks have been laid for a maximum
speed of 250 km/h.

The work will be performed in due time.

The introduction of electric traction on railways was spoken of at
the end of the 19™ century.

New metro lines are being built in different parts of the city

17




Exercise 2
llepenuwims cnogocnonyuenus ma nepekiadims ix piOHO MOBOI0,
36epmMarodu y8azy Ha 8XHCUBAHHS IMEHHUKIB V (DYHKUYIL O3HAUEHHS.

£ 700,000 construction design, track-laying operation instruction,
right-hand 20 deg 10 min radius sharp curve, standard gauge super-
express railway line, experimental diesel multiple unit train, 7 hour
shift work.

Exercise 3

llepenuwims peuenns ma nepexiadimo ix piOHOW  MOBOIO,
36epmarovu yeacy Ha pi3Hi 3nauenHs oiecis to be, to have, to do.

1 A rail is acted on by vibration which accelerates damage to the
sleepers.

2 All London underground trains had special reduced lighting for use
on the track sections running on the surface.

3 Some specialists did not believe that monorails would become part
of our life in the future.

4 What does the arc welding process depend on?

Exercise 4
llepenuwimes peuenns ma nepexniadimo ix piOHOW  MOBOIO,
36epmarodu yeazy Ha MooanvHi odiecnosa. lliokpecinimb mooanvhi
diecnosa.

1 One should know that railways are the safest and the most popular
means of transportation.

2 The goods needn’t have been sent by railway.

He ought to take a more active part in decision making on the

construction time of the railway crossing.

4 We will help him.

He tried to persuade me, but I wouldn’t listen to him.

(U]

(V)]

Exercise 5
llepeknadimsv  pioHOIO M0OB0I0  OIENPUKMEMHUKOBL  360pOmu  3i
CKILAOHUMU hopmamu OIENPUKMEMHUKA.
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1 Having made a number of experiments, our scientists developed a
new track diagnostic technique.

2 Both electric and diesel locomotives are now in operation on our
railways, the diesel being the best type for marshalling yards.

3 Sleepers may be of wood, concrete, prestressed concrete or steel,
wooden sleepers being still widely used.

4 Having been introduced on the railways, telecommunication allows
both the goods and the passenger trains to run according to
schedule.

Exercise 6
llepenuwimes  peuenns ma nepeknadimo ix pIOHOW  MOBOIO,
36epmaioyu yeacy Ha Oe3CNOYYHUKOBUL 36 S130K.

1 Yesterday she read in a magazine those machines had been
perfected by a group of our engineers.

2 Were longer rails used everywhere, wear and tear of vehicles
would be decreased.

3 The young man you are speaking about wants to enter our
Academy.

Exercise 7

IIpouumaiime mexcm ma nepenuwiime tio2o. llepexnadims mexcm
PIOHOIO MOB010, nepekiao 3anuwims. /latime nucbmo8y 8i0no6iovb Ha
HageoeHi 3aNUmManHs.

Crane Accessories

The crane is an extremely versatile unit and may be used to
handle a wide variety of materials, shapes and containers by simply
changing the device on the end of the hoist line to adapt it to
different conditions. It is due to the ability of the crane to handle
these many accessories that it finds such a wide application work
and also on material handling jobs, particularly in and around
industrial plants.
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Crane accessories include the clamshell bucket for
handling bulk materials, the dragline bucket for excavation and
stripping, the concrete bucket for placing concrete, the magnet for
handling scrap, castings, iron and steel products, the skip for lifting
materials out of shafts and deep excavations, grabs for handling
pulpwood and mine shoring, slings to handle pipe and heavy
machinery, grapples for handling stacked pulpwood, railroad ties,
etc., the skull cracker (which, although it does not handle materials,
does serve to break it up, prepare it for easier, quicker handling),
the hook block (which must be used in conjunction with many of
these items), tongs for handling logs, clamps for handling barrels,
drums, boxes, etc., and special hooks, which, together with many
items may be developed to handle any specific job or material.

Notes

1 clamshell bucket — rpelidepuuii ki
2 cracker — npobapka

3 hoist line — nebiaka

Answer the following questions

What kind of unit is the crane?

What is the crane used for?

What do crane accessories include?
What is the clamshell bucket used for?
What is the skip used for?

N A WN =

Exercise 8
1liobepimb mepminu y npasiti KONOHYI 00 BUSHAUEHDb ) JIiBIU KOJIOHYL
llepeknadims pionorw mosoro.

1 version a) a place or structure (as on a street
or over a river) where pedestrians or
2 route vehicles cross
b) something that is occurring or
3 currently existing at the present time
c) aform or variant of a type or
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4 schedule original

d) a plan that indicates the time and
5 crossing sequence of each operation

e) an established or selected course
of travel or action

BAPIAHT 4

Exercise 1

Ilepenuwims peuenns, HA38iMb Y KOHCHOMY 3 HUX 8UOO-4ACOBY
gopmy ma cman diecrosa — npucyoka. Ilepexnadimo peuenHs pioHor
MOBOI0.

Powerful machines have been developed for building railroads.

The tunnel was being constructed through the mountain last year in

June.

3 The invention of the steam locomotive roused great interest; it was
much spoken and written about.

4 The modernization of the workshop is insisted upon by the workers

and engineers.

N =

Exercise 2
llepenuwims cnosocnonyuenus ma nepekiadims ix pioHO MOBOI0,
36epmarodu y8acy Ha 8XHCUBAHHS IMEHHUKIB Y (DYHKYII O3HAUEHHS.

Experimental gas turbine-driven multiple unit train, freight service
season timetable, diesel traction introduction plan correction, track
structure materials description, Disney Park steam-hauled miniature
railway.

Exercise 3
llepenuwimes peuenns ma nepexniadimo ix piOHOW  MOBOIO,
36epmaroqu yeacy Ha pi3Hi 3HauenHs oiecis to be, to have, to do.
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3
4

The chief functions of the sleepers are to support rails and keep the
two rails at correct gauge.

The construction of a new line has been preceded by long and
thorough surveying.

The horse-powered railways did not last long.

She did her best to pass examinations without attending lectures.

Exercise 4
llepenuwims peuenns ma nepexkiadime iX pIOHOH  MOBOI,
36epmarouu yeazy Ha mooanvhi oieciosa. Iliokpecinimb MoOanvbHi
diecnoaa.

1
2
3

4
5

In the future the operation of railways should be turned into a fully
computerized branch of a country’s national economy.

All the problems of a new track ought to have been solved long
ago.

Need you be so rude?

Will you look over my calculations?

He would become a construction engineer.

Exercise 5
llepeknadimsv  pioHOIO M0OB0I0  OIENPUKMEMHUKOBL  360pOMuU  3i
CKIAOHUMU POPMAMU OIENPUKMEMHUKA.

1

2

Having completed the research, the professor took a month’s
holiday.

The information on the goods trains at the sorting yard being
processed by computers, the efficiency of sorting operations is very
high.

The embankment gradually sinking under the weight of passing
trains, approximately 2" (inches) per 1’ (foot) of height is added on
the top during the construction.

Having been warned of the train collision the dispatcher
immediately sent a special train to the scene of the accident.

Exercise 6
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llepenuwims peuenns ma nepexkiadimv iX pIOHOH  MOBOI,
36epmaroyu y8azcy Ha 06e3CnolyYHUKO8ULL 36 S30K.

1 The scientist reported the interesting data had been obtained during
the tests.

2 Had you worked hard, you would have passed all examinations.

3 Machines track maintenance depends on must be reliable.

Exercise 7

IIpouumatime mexcm ma nepenuwiime tio2o. llepexnadims mexcm
PIOHOIO MOB010, nepekiao 3anuwims. /latime nucbmo8y 8i0no6iov Ha
HageoeHi 3aNUmManHs.

Thermit Welding of Rails

The tendency towards adoption of long welded rails for the
purpose of strengthening the track structure is more and more evident
in every country of the world. For the welding of long rails, European
railways rely mainly on the flash-butt process in the plant and on the
thermit process in the field. Meanwhile the common practice in Japan
is the coupled use of the flash-butt and arc welding process, or use of
the gas pressure welding in the field.

The arc welding process vastly depends on the skill of welding
operators and the working environments and in consequence the
resulting strength of weld is less reliable; besides it takes a relatively
long time (50 to 70 minutes for a 50 kg/m rail). Under these
circumstances, a more convenient process calling for no application of
an axial pressure, less working time and giving a higher joint strength
1s being eagerly demanded. To meet this demand investigations on the
full-fusion thermit welding process, which is very popularly applied
particularly in Europe, have been carried out. In the present
investigation the 50 kg/m rail is dealt with.

The test results show that the full-fusion thermit welds of rail in
Japan exhibit mechanical properties which are equal to or rather
superior to those in Europe and U.S. The atmospheric pressure being
below 10°C, the thermit mixture should be preheated up to this
temperature or higher.
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Notes

1 flash-butt (process) — npotiec 3BaproBaHHs (PEHOK) y CTUK

OIJIaBJICHHSAM

2 arc welding process — 1yroBe 3BaproBaHHS

3 gas pressure welding — aBToreHHe 3BaprOBaHHsI

4 full-fusion thermit welding process — TepmiTHE 3BaprOBaHHSs
JIaBJICHHSAM

Answer the following questions

1 What 1s the purpose of employing long welded rails?

2 What welding processes do European railways rely on?

3 What types of welding are used in Japan?

4 What does the arc welding process depend on?

5 What type of welding appeared more convenient?

Exercise 8

1liobepime mepminu y npasiti KONOHYI 00 BUHAUEHDb ) JIiBIU KOJIOHYL
llepeknadimsb pionow mosoro.

1 joint a) long steel bars on which the trains run
b) the place where the ends of the rails

2 rails meet in the track
c) the movement (as of vehicles or

3 crossing pedestrians) through an area or along a
route

4 curve d) aplace or a structure (as on a street or
over a river) where pedestrians or

5 traffic vehicles cross
¢) a part of the track that is hook-shaped
or bent
BAPIAHT 5

Exercise 1
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Ilepenuwims peyenns, HA36iMb Y KONCHOMY 3 HUX BUOO-YACOBY
@opmy ma cman diecnosa — npucyoka. llepexnadimo peuenHs pioHO0O
MOBOI0.

1 The report of the famous engineer was listened to with particular
attention.

2 The accuracy of calculations can be relied upon.

Now a new railway is being built between the two cities.

4 Underground railways have been built in many cities of our
country.

(OS]

Exercise 2
Ilepenuwims cnosocnonyuenus ma nepekiadimo ix piOHOW0 MOB0I,
36epmaroyul y8azcy Ha 8IUCUBAHHS IMEHHUKIB V (DYHKYIL O3HAUEHHS.

High-speed traffic requirements, next generation track laying
machines, left-hand sharp curve, pre-assembled 60 ft track lengths,
three tier roller support, full-fusion thermit welding process, follow-up
spot surfacing.

Exercise 3

llepenuwims  peuenns ma nepeknadimo ix pIOHOKW  MOBOIO,
36epmarouu yeacy Ha pi3Hi sHaueHHs oieciis to be, to have, to do.

1 As stub switches and crossings have no lateral support they are
used only for temporary construction tracks.

2 A railway track has to be kept in such a condition that trains may
run over it in safety at the highest prescribed speed.

3 People do not know much about first railways.

4 The slab track has been adopted for all future Shinkansen lines.

Exercise 4
llepenuwimes peuenns ma nepexiadimo ix piOHOW  MOBOIO,
36epmarodu yeazy Ha MooanvHi odiecnosa. lliokpecinimb mooanvhi
diecnosa.

1 One should not forget that our country has been introducing new
railway technologies on a large scale.
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2 When fixing fishplates at joints, the contact surfaces ought to be
thoroughly cleaned and oiled, as wear is increased if any foreign
matter 1s left.

3 Youneedn’t help me

4 T assure you I will pass all examinations.

5 He wouldn’t say where he had picked up the information.

Exercise 5

llepeknadimsv  pioHOIO MOB0I0  OIENPUKMEMHUKOBL  360pOmu  3i
CKILAOHUMU hopmamu OIENPUKMEMHUKA.

1

Electrons moving through a conductor, electric power is generated.
Having been equipped with radio, the driver’s cab meets all
technical requirements.

Bessemer had more than 100 patents for different inventions, his
steel converter of 1855 being the most important.

Having encountered the difficulties in operating, the industrial
locomotive the engineer applied radio control.

Exercise 6
llepenuwims peuenns ma nepexiadims ix piOHOW MOBOI0,
36epmaroyu yeacy Ha Oe3CNOJIYYHUKOBULL 36 S130K.

1

2

The professor said the materials of our research work had been
typed.

Were the gang not delayed by the lack of rail, eight strings of
welded rail could be laid per day.

The new track-laying machine Ukrainian scientists have invented
meets all modern requirements.

Exercise 7

IIpouumaiime mexcm ma nepenuwiime tio2o. llepexnadims mexcm
PIOHOI0 MOB010, nepekiao 3anuwims. /latime nucbmo8y 8i0no6iovb Ha
HageoeHi 3aNUmanHs.

Railway Track
26



In its general and fundamental concepts the modern railway
track is not greatly different from that of a hundred or more years ago.
As then, it consists of two parallel rails supported on and fastened to a
series of supports, called crossties or sleepers, which, in turn, are
imbedded in and carried on a suitable material known as ballast, the
entire structure being supported on a graded surface known as the
roadbed or subgrade. However, the various component parts of the
structure have, in the intervening years, been greatly improved,
refined and strengthened. Specially, railroad rails are much heavier
and longer than before and have been greatly modified in shape to
secure greater rigidity. Continuous welded rails give better riding
qualities to the track, they last longer, reduce the cost of maintenance
and they increase the stability of the line. The fastenings by means of
which the rails are joined to each other and held to the ties have been
greatly improved to increase their efficiency and effectiveness.
Recently the crossties consisted almost universally of wood treated
with a preservative material to protect it against decay. In all main
line tracks the rails are now supported on concrete ties, prestressed
concrete ties or steel ties. Metal plates, known as tie plates, protect the
ties from damage due to the cutting action of the rail. Track ballast
instead of the earth or other similar material used originally, consists
universally of crushed stone or its equivalent, carefully graded. All
these improvements have become necessary because of constant and
progressive increase in train loads and speeds, and the need for
providing a track structure that will not easily be thrown out of line or
surface under the severe punishment to which it is now subjected.

Note
1 continuous welded rail — 6e3cTukoBa 3BapeHa peiika

Answer the questions

1 What does the railway track consist of?

2 How have the component parts of the structure been improved?
3 What improvements are the most important in your opinion?

4 Why have all these improvements become necessary?
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5 Is the modern railway track greatly different from that of a hundred
years ago?

Exercise 8
11liobepimv mepminu y npasiti KOJOHYI 00 BU3HAYEHb ) JIiBIU KOJIOHYL.
llepeknadims pionorw mosoro.

1 train a) aperson trained in any branch of the
profession of engineering

2 locomotive b) a machine or tool used for a specific
task

3 bogie c) the driving-wheel unit

d) a self-propelled engine driven by

4 device steam, electricity, or diesel power and
used for drawing trains along railway

5 engineer tracks

¢) a line of coaches or wagons coupled
together and drawn by a railway
locomotive
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